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Q- 1 Fill the blanks with appropriate option given in the I+tcket and write answer in answer book. io
1...._ ..... __.. _ is not an element of Economic M'ldel.

2.

3.

4.

5.

6.

(exogenow¥ivariable, Behavioral equation, feasible area)

......_ __..__ is a method to solve the quadratic equation.

(substitution method, method of mathematical formula, elimination method)

Second order derivative of total revenue function indicates _

(change in total revenue, change in marginal revenue, change in average revenue)

Through, ._ .. __ we know, how much produce. of industry-X has been used in industry-Yo

(Technical coefficient, Transpose matrix, Inverse matrix)

A-B means set-A and set-B are sets. (equal, equivalent, complement)
511

When a die is rolled, the probability of getting a five is ----- (6' 5' 6)

7. Set of possible values ofa dependent variable is known as of the function.

(range, domain, slope)

8. The nth-root for multiplication of n- figures is called mean.

(arithmetic, geometric, harmonic)

9. is a root mean square deviation from mean of observations.

(mean deviation, quartile deviation, standard deviation)

10 If mean of 10 observations is 27 and 20 observatiots is 33, then a mean for all 30 observations

would be (30, 31, 32)

Q-2 (A) Explain the types of diagram and narrate its imp0rtallce. 08

(B) Let D = 100 - 2P and S = 3P - 50 are the demand and supply functions respectively for a 07

commodity. Where, D = quantity demanded, S = q~ntity supply, P = price. Then find out;

a. Equilibrium Price and Quantity

b. Ifper unit tax ofRs. 5 imposed then it's effeeton Equilibrium Price and Quantity

c. Income of the Government from this tax

d. Total tax burden on consumers

e. Total tax burden on producers

OR

(i) Explain the graphical method of linear programming. State its uses in economic analysis. 08

(ii) For a commodity, when a production was 100 units then production cost for it was Rs. 3000 03

and When the production was 250 units then production cost it was Rs. 6000. Find out the cost

function of production.

(Hi) Describe the properties of inequalities with appropriate illustrations. 04

!



Q-3 (A) Discuss the variou::; properties of detenninant with aPtn-opriate iUustra,ion.

(B) Solve the following simultaneous equations using Gramer's rule.
3 X + 2 Y + 6Z = 24

2X + 4Y + 3Z = 23

5X + 3Y +4Z =33

(C) Give the meaninf: of matrix. Discuss its types in detail.

OR

05

05

05

(i) Explain the conditions fl)f addition-subtraction and multiplication of two matrices. Narrate the 07

uses of input-output model in economic anal,1sis.

(ii) Using the following table of Input-Output find out total production of all these industries, when 08

final demand targets are 10, 10 and 20 respectively for all three industries.
- - --~------ --

Input IndustryFinalTotal Production

Output

ABCDemand

A

486 14 32;-. '- --•... (/) B10141014 48::l -0C- C64822 40

Q-4 (A) Give the meaning of set. Discuss the operations of set with appropriate examples. 06

(B) In a college there are an equal number of boys and girls. 10% of the boys and 5% of the girls 04
have offered statistics and the rest economics. If a statistics student is selected at random what is

the probability that the selected student is (i) a boy (i) a girl?

(C) Explain the statistical and mathematical definitions of probability with their limitations. 05

OR

(i) Write a detailed note on Lorenz curve. 06

(ii) Give the meanings of various events probability. 04

(iii) In a group there are 7 males and some females. The probability to select 2 females randomly 05

is 115, Then find out the total numbers of females in the group.

Q-5 (A) State the merits and limitations of mean and median.

(B) Find out which series is more consistent.
Class 10-2020-3030-4040-5050-6060-701

Series-A

101832402218

Series-B

182240321810

OR

(i) Give the meaning of data. Discuss the various methods for collecting primary data.

(ii) Using the following infonnation find out mean, median and mode.
Class interval 10:2'0·tO~3'O·1'0.:41)'1'6::56ffi .•(jOi6'"1'(1,w..8{)+0.,96

Frequency

4165697124137146150

08

07

08

07
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'Y.-3 (A)

(B)

rai~le{8atl fcl.fchl. .lJlltHUo{l it',,::J2.{ <3£l~~~ {{(~ct ~ ~.
W;·'

S1-t~atl lc1.e{l{atlC3,{iil::l sil~ ,..{lilatl ~Jlltct {{~8~QtaU (jk-t ~uUl.
3X + 2Y +6Z ~24
2X r 4Y i 37 ~. 23

5X 1- 3 Y + 4Z c 33

(C) ~@satl o1.~ O1.l1.U.i.<i.l \lSl ~o{l fcl.Jlct ~ ~l sa.

05

05

05

(i) 0{ ~@~atl ~~qlCfll-CJ.t.lE.vU~o1.~ JJ~ll8l~ l{l~o{l ~l~ctl. {{l{"IS1.cU.~ct:~.lq-CJ.t.a{{lq ..uSC-tatl 07

O1.l0:3 fcl.~c~1:t~ll{lC3lt<ibll.oj c.{~lats~.

(ii) aD.~atl oi.ct:{{lq-CJ.t.~{{lqatl ~~satl <3lt<il.Jl s~~ ~l~ oi.lctl{ l{iJlatl c-tati~ ct1-tll{ ?l@.e{ 08

C3w.Jill{l~ O1.ajzi{ 10, 10 o1.~ 20 ~e{ ~l~ O1.lCJ.t.ttl@W.Jill{l~ ~c-t G,ltlE.cr1.~iltU.

O1.ct{{lq:(3~l~l~lctl{ l{lJl~c-t G,ltl E.at

CJ.t.a{{lq
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06Jl~lotl o1.~ O1.l1.U.Jl~la e{l~aD. <ilJe{ <3E.l~~~l {{act ~~1 8~.

81.C1."Is'l{i{{~Wl ttlK{l1-ti 191.£l~lo1.~ 191.8~~ ~. 10% 191.8~l~ ~~ 5% 19l.s~~~ ~i£lSl~ll~ 04

ctl{"Is'vU~atl ~ O1.~~ll~ fcl.1:t<ilO1.lltc{l1-li~lc<.l.l ~. it i!.l~~ ~rt ~i8Sl~ll~atl i;ts fcl.£I.lillaU

ltttE.J(l 8~c{ll{i O1.lCl.ctl. ltttE. S~l~C-t fcl.£I.lill (i) 191.£l~(ii) 191.£l~~c{lo{l tt(){lC{atl~ ~?

(C) tt(){lC{atlo{lO1.l8Sl~ll~i!.l o1.~ Jll@lct8 c<.l.llK{lQ{tct1-laU1-li!.l1E.lQ{t~art ~l{~cU.

'Y.-4 (A)

(B)

(i) c{l.~cr~C{!ijlt~ (2lJlct atltt c-tlJtl.

(ii) tt(){lC{atlaD.(Cl.(Cl. tt Ucatl ~atl o1.~ O1.l"41.
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'Y.-s (A) 1-l\:.i!.l8o1.~ l{\:.i!.lWatlJJ~il o1.~ l{i!.llE.lQ{t"Is'~llcU.

(B) sU' ~~(l qttl~ ~lct~~(){~ ~ ct ~UtU.

qJl 10-2020-3030-4040-5050-6060-70

~~(l - A

101832402218

~~(l - B

182240321810
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(i) 1-llact1.atlo1.~ ~l1.U. 1:J.l2.l(llS1-llact1.i;t£l~rt £l~C{l1-ll~aO.s{l-s{lltw(rtQ{to{l ~~1 £lil. 08

(ii) aD.~aD.1-llact1.atl C3lt<ilJl £l~~ l{\:.i!.l£l,l{\:.i!.lW~~ Vl~C-{b~ilw. 07

qJl ~ct~lC-t 10-2010-3010-4010-50'10-6010-7010-8010-90

~lq[-rt
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